I need help with this study question.  Is each of the following statements true, partly true, or false?  Explain.  

(a) If a good’s income elasticity of demand is less than 1, an increase in the price of the good will increase the amount spent on it.

(b) The income elasticity of demand will have the same sign regardless of the level of income at which it is measured.

(c) If Mr. Miller spends all his income on steak (regardless of his income or the price of steak), his cross elasticity of demand between steak and any other good is zero.

